HARDWARE PACK #

. PZN300WEH

NO. DESCRIPTION SIZE QTY
J Wod CAM-BOLT 38mm 8pcs
K CAM-LOCK ®15mm 8pcs
L WOOD DOWEL 8 x 30mm 8pcs
M SHORT BOLT 1/4"-20 x 3/8" 12pcs
N Nl MEDIUM BOLT 1/4"-20 x 7/8" 12pcs
0 @ PLASTIC PLUG | 13 x 40mm 4pcs
P DY GLUE 1pc

Q - LONG BOLT 1/4"-20 x 1-7/8" 2pcs
R N SCREW 4-40 x 1" 1pc

S } ALLEN KEY 4mm 1pc




PARTS FOR ZN300WE

Complete Hardware # : PZN300WEH

PZN300WETP
TOP PANEL

PZN300WEL2
LEG 2

PZN300WEFBP
FRONT AND BACK WOOD PANEL

PZN300WEBSB

PZN300WELRP
LEFT AND RIGHT WOOD PANEL

PZN300WETB
TOP METAL BAR

PZN300WESP
BOTTOM SUPPORT SHELF PANEL
METAL BAR vl
PZN300WEBB
BOTTOM METAL BAR
PZN300WEL1
LEG 1
PZN300WEPP
PLASTIC PLUG
PRODUCT DETAILS

TOP PANEL

SHELF PANEL MDF

WOOD PANEL

BAR

IRON/CHROME

LEG

PLASTIC PLUG PLASTIC

PRODUCT SIZE W22" x D22" x H23"

CARTON SIZE W29.75" x D25.5" x H6"

NET WEIGHT 27.83 LBS

GROSS WEIGHT 34.21 LBS

CU.FT. 2.63'/CTN

Made In Taiwan
Hecho en Taiwan
Fabriqué en Taiwan




